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Time- 1.30 Hrs, Full Marks- 40, Q-Type-MCQ, Subject- Accountancy
= fAder—
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o AT U & oIy Ud i AuiRa 2|
o TP U b IR fdbed Ay 7Y 2 | A fAdved &1 =7 SIS |
e IAd IR & oIy BIg 3d A8l BIC S |
oUW (Answer the following questions)
1. 799 & Q S 1Y T HAF arell IR T8 @ (which of the following is not a Not
for Profit organisation) "
(a) IIBT@W(COIIege) (b) @WW (sports club)
(c) HBdl S&NT (Maruti Udyog) (d) gRdied (Hospital)
2. PRWUS 31fAfae ufkeg € (Jharkhand Academic Council is)
(a) GJTWW(Trading Organisation)
(b) ﬁTGIITQTR’EFi@ﬂ(Non trading organisation)
(c) GHI (Both )
(d) Eﬁ@ﬁgﬂﬁ(None of these)
3. F@E‘Iﬁﬂﬂ%ﬁﬂﬁm%(%nmeship agreement can be)
(a) j:ﬁ'@$(oral) (b) ﬁf@ﬁ(written)
(c) 1:ﬁf@$?SITﬁ*I]C@FT(oraI or written) (d) ﬁﬁ@[ﬁ'ﬁgﬂﬁ(None of there)
4. Th IHHY IRt § IEeR! B S4B fedH 8 Ibdl § (In an ordinary
partnership minimum number of Partners can be)
(@) 10 (b) 20 (c) 50 (d) 30
5. Jfd 8 (Goodwill is):
(a) Tc IHRT (A Tangible Assets)
(b) 3 T (An Intangible Assets)
(c) dre Fwfd (A current Assets)
(d) 399 9 P 78I (Non of these)

6. fUsa 9 auf & @Y & 6000, 13000 TUT X 8000/ TATH T 3MGd ATH & 2
e H1 & HF WG :


Accountancy


(Profits of Last three year wene Rs.6000, Rs.13000 and Rs.8000. The value
of goodwill at 2 years Purchase of average profit will be:)

(a) 81000 (b) 327000 (c) %9000 (d) 18000
7. HH & foTT SMERUT R T §
for the firm, Interest on Drawings is

(a) °UY (Expenses) (b) g (losses)

(c) 3T (income) (d) 399 ¥ P13 T8l(None of these)
8. x 3Ry 2:3 & U & &Y dicd 8- Hfosy & I JAF U |, T e
T a1 8 SH AeieR fod Srgurd § rT S|
X and Y Shares Profit in the ratio of 2:3 Now they decided to share profits

equally in which partner will sacrifice and in which ratio?
(A) 'x' sacrifice (M) 1/10
(b) Y Sacrifice (M) 1/5
(c) Y sacrifice (@RT) 1/10
(d) 9 9 PIs Tel (None of these)
9. oY UG 3IUTd 1 UMT & STl (Gaining ratio is calculated)

(a) WWW%W%W(N the admission of a new partner)

(b) fpat ATFER & TR IR A (At the time of retirement of a partner)
(c) e B & fagfed g1 ™ (On the dissolution of a partrarship firms)
(d) ﬁﬁ@[ﬁéﬂ?’f(None of those )

10. 3 GUT 9 WHGR § S 5:4 & 3Ud H @MY died €1 9 9 &1 1/5 fewn & faw
TSR T4 &1 3 TUT § BT AT SUTT qTY |

A and B are partners sharing profits in the ratio of 5:4. They admit ¢ for 1/5

Share of profit. what will be the sacrificing ratio of A and B.
(a) 4:5 (b) 5:4 (c) 1:1 (d) 3:2
11. T8 U=™IGR & Y9 WX (on the admission of a Partner )
(a) TR TH &1 JAYT BT | (old firm dissolved)
(b) TR WK} ST JATI IA1 8 (old Partnarship dissolved)
(c) TH 3R TS ST BT JHTGH gha 3
(Both old Partnership and firm are dissolved)
(d) 781 BH 3R 7 8 AR BT FAIGH g
(Neither firm nor Partnership dissolved)
12. A, B 3R C 5:3:2 & 3urd & MM Sicd gC AIPIGR & A 3P T80 HRl ¢
P10 WWWI A,B and C are partners with profit sharing ratio as
5:3:2, A retires. Find the gaining ratio.




(a) 3:2 (b) 5:3 (c) 5:2 (d) 3:5
13. R, S @Y1 T &1 RMAT AY- fAUSH 2:2:1 € S &t YR & a1g ITHT ATH-
fauTeT SUTd 3:2 71 SIETY SfUId B,
(The old profit-sharing ratio among R, S and T ware 2: 2:1. The new Profit
Sharing ratio after S retirement is 3:2, The gaining ratio is)
(a) 3:2 (b) 2:1 (c) 1:1 (d) 2:3
14. {5 VEIER & G UGN R B 61 Aaid- (b4 UHR 531 STl g 2
How is goodwill recorded at the time of retirement of a partner?
(a) Remaining Partner's Capital A/C ---Dr
To Retiring Partner's capital AIC
(b) All partner's capital Alc - -
To: Gaining partner's capital A/c
(c¢) Gaining Partner's Capital A/c -- Dr
To Retiring Partner's Capital Alc

(d) B'Clﬁﬁﬂaoll'sc:lﬁ(Non of these)
15, T - TG 3UTd 1 70T g YR 1 Sl § 2

How is Gaining Ratio Calculated?
(a) Old Ratio - New Ratio (YRT-T 3{UId - 4T 3{JUld)
(b) New Ratio - old Ratio (4T SAUld - YT SHJUId)
(c) New Ratio - Sacrificing radio (4T SHJUld - N 3{]UId)
(d) None of these (375 I P13 -Tg))
16. WEPIER Bt Yo W {fad Y 8 §
(On the death of a partner in a firm final payment are made through)
(a) li\_:\:fEﬂ?W\ET(capital Alc)
(b) fwITG® WId F (Executor's A/c)
(c) Eﬂﬁ@ﬂ?f@[ (Current Ac
(d) BU WA I (Loan Alc)
17. g-—l{vﬂidﬁ [T ford 9T dOR farar Gﬂ?ﬂ%‘(Revaluation Account is
prepared at the time of)
(a) 7Y APIER & YA (Admission of a partner)
(b) fpat AR & SAHTR TG (Retirement of a partner)
(c) Ww%qmﬁa@ (Death of a partner)
(d) 379 T 9t (Al of these )
18. B & onffes g & grufa ver & ey gwofy & wfier @




current Assets of the Assets side of the Balance-sheet of a company

includes)
(a) fafdy ¢9GR (Sundry Debtors) (b) BTY HJHS (Cash in hand)
(c) XI& (stock) (d) TTt (Al of these)
19 3R R S{JUId %(The ideal liquid Ratio is)
(a) 2:1 (b) 1:1 (c) 5:2 (d) 1:2

20. $ATC 3fTad ST BT G :

Formula of Inventory turnover ratio is:

(a) 9 TE HE & ard cost of Revenue from operation)
3T T Average Inventory
(d) e gy Current Assets
EISEIRE Current liabilities
) 3id Tidh Average inventory
S 7T A/ B AT Cost of Revenue from operations
(d) g!ga@a current liabilities
%nqwtrf%r Current Assets
21.FTHN B 8 |
A COMPANY IS.euuuurrrrrerrreeeseeeeeeeenens
(A) 3rduTfe safed (B) A 3aenfie aafad
(An illegal person) (An Artificial ilegal person)
(C) Hhm durfae =fdd (D) favw aafda
(An Artificial legal person) (A special person)

22. foft B & 3ifirepan ol &t Te Fal d A &

(The medium number members in of private company is Limited to..)

(A) 20 (B) 70 (C) 50 (D) 200
23. 3Tl B U gl
(Shareholders get......ccceee. )
(A) &S (Interest) (B) THIYT (Dividend)
(C) SR (Commission) (D) dIH (poofit)

24 Yol T 98 HIT Sl Had HH-T & FHTTH WR &1 AF T Gobdl §, Heal ..

(The portion of the capital which can be on the winding-up of the
company Called-up................ )



(A) Sifipe got (8) freifir ot
(Authorised capital) (Issued capital)
(C) =T Hrf g Usil (D) dfera it
(Uncalled capital) (Reserve capital)

25. U HFH U L B Ui IR HRG HH- AfAfgH, 2013 ot i 4Ry
P Sfvid Sl SR} R Febll §

(A company can issue its shares at a Premium under which of the
following section of the of the Indian Companies Act 2013)
(A) 77 (B) 78 (C) 52 (D) 53
26. 3 3(TdeH WA 8 (Share Application A/c is
(A) feqiTd @TdT (Personal Alc)
(B) dRdfdd Wrdl (Real Alc)
(C) ATHHEA W@1dTl (Nominal A/c)
(D) 9 9 P18 e (None of the above)
27. IFR s feffira o o &
(Right shares issued to................ )
(A) Tdd®! &I (Promoters)
(B) FOAYTRGT B (Debenture holders)
(C) fa=mm sfxramal &1 (Existing shareholders
(D) Tt &I (All of the above)
28,3/ B0 WA & AY &) g fbdT ST & (Balance of share forfeiture Alc
Transfared to........... )

(A) TTH-BIH el (B) USTt g @rar
(Poofit and Loss A/C) (capital reserve A/c)
(C) I o T (D) 378 ¥ Bl Tol
(General reserve Ale) (None of these)

29. B0 4 B &

(Debenture holders are the........... )

(A) ST & TTEH (B) I & HITCTh
(Customers of the company) (owners of the company)
(c) B P ISR (D) 0 A HI g
(creditors of the company). (None of these)

30. FHUE R & BT R BT &

(Rate of interest on debentures is at ......... )



(A) 12% T (12%pa) (B) 20% aT¥® (20% pa )
(C) TAf%d & (Fixed Rate) (D) 15% TI¥® (15% pa)
31. BUYH! & s & rard foxamar Srar g
(Debentures are exhibited under the heading)
(A) 31 YSH (Share capital)
(B) T= (Reserve)
(0] BT BUI... (Long-term Borrowings)
(D) 395 ¥ ®Is A8l (None of these
32. U FBUL-TAT & IE, B UR U ATH BT <R g
(profit on cancellation of own debentures is transferred to)
(A) AH-gIA faaror
(Statement of Profit & Loss)
(B) ATH-gIA 3fereg fagwor &
(Surplus in statement of P/L)
(c) ITHT Hog @1 |
General reserve A/C)
(D) Uoit Jog ard |
(Capital reserve A/C)
33. T WA & U 2020 T 2021 H HUING U@ HA: 2 100,000 d 3
80,000 ¥ | fy nfa=rd o1 X ¥ 398 URad— gang 2
(A company had Trade Receivable worth ¥ 100000 in 2020 X 280,000 in
2021. By what percentage (%) it has changed ? )
(A) 20% (B) 25% (C) 40% (D) 50%
34. T HR & A AR & Y fawa &t I &I v sRIR A1 SIS (In

a Common Size statement, the amount of net sales assumed to be equal

(A) 1 (B) 10 (C) 100 (D) 1,000
35. 00 41ikar 1 forerar 8
(Debenture holder receives.......... )
(A) TTHIRT (Dividable)
(B) &SI (Interest)
©) CIGE] Bonus)
(D) TTHIRT 3R &I I (Both Dividend and Interest)
36. MY T G ARSI ............ Wi P53



(Profit and Loss Statement is also called ............... )

(A) x’rﬁ%ﬁ@ (Balance-sheet)

(B) errrqﬁaw (Income statement)

(©) Uﬁiﬂﬂ:ﬁﬂﬂ (operating Profit)

(D) fafeamT (investment)

37. sﬁvaﬁﬁtrhaﬁ:h ? (Changes in inventory = ?)
A) IR wi® - 3ifaw wid
Opening stock-closing stock
B) fawg - fasg aroxdt
Sales - Sales return.

(C) %Y - HY quH!

Purchase- Purchase return

D) fa%d & AFTd - Thd aH

Cost of goods sold - Gross profit
38 JHs YaTe faavur Tafia 7
(Cash Flow Statement is related to)

(A) AS-3 T (B) AS - 6 ¥ (C) AS - 9 ¥ (D) AS - 12 ¥
39. & A BH & IR- I5$ 43 Tol &

(A) &g fahd (Cash Sales)

(B) BIY (Depreciation)

(C) AT HT 3Tead (Goodwill written off)

(D) YT FHUIf &I a8 (Provision for Bad debts)
(which one of the following is not a non-cash item)
40. AHS YaTE faR0 IR FRa THG AU BT Y f5d UaR o1 fbar &

a3 ?

(Payment of Dividend will come under what type of activity while preparing
Cash Flow statement?)

(A) uf=re foear (operating activities)

(B) IESIRAER (financing Activities)

(c) faf=amT foran (linvesting Activities)

(D) Wﬁaﬁgﬂﬁ (None of the above)



AEUE e ATHLTH T TIAAT TRE U], ATGUE
aATTuh TTeAT 2023
aiea w1 o (FAroafas)

FeAT — 12 | o — ACT | &19F- 1:30 Rvre | TUTTF- 40

Ty fAgern-
o TEEATHT TATHNS (O 9T=31 H I <.
o % WAl AT HEAT 19 7.
o WA HEAT1H 7 TF AMd T ST TT 2. 5AqA 5 WA ITAL AT AT &, T4 T T 91 2

s fatia .
o WHHEAT8H 14 TH AL IWA NI 2. TAH [Bedl 5 WAT B ITL AT AATH g, TeAF T FT
AT 3 3 fAaiha &
o WHHEAT 15 19 AfTTOT T §. A Thedt 3 Wl 1 I A7 AFATH 8. AT W FT °IH
5 3 fReihia 2.
Section-A
1. geaT T & ?

What is subscription?
2. siftrener &1 I I

Give the formula of super profit?
3. TN 3GUd Bt I fFA ySR B St B 2

How sacrificing ratio is calculated?

4. 39T A 3T R TAIA 2 ?

What do you mean by share?
5. U3 @ ofeel A =T BT 2 ?

What is meant by redemption of depentures?
6. dic] TRl by ded B2

What are current Assets?
7. Abs Ydale faawor &1 3 Fard|

Give the meaning of cash flow statement .

Section-B

8. foree faazont & adf 2020 & fow der J 3T @ v Fiow|

Compute the income from subscription for the year 2020 from the following particulars.
1.1.2020 31.12.2020
3red dar (Outstanding Subscription) 9000 6000

3ifdr der (Advance Subscription) 1600 4400
2020 & U deT B 2,24,000

Subscription received during then year 2020 - Rs 2,24,000



9. AB,Cus B & FI ARDER 81 B 3MadIer A8 &HAT & 3R AW AR o3 BH B oAl Bbr
5:4 B 3IGUIT H qea B foredd Hed &1 Wid 3iguTa PI I10reT SHifeTU |

A,B,C are equal partners in firm. b retire and the remaining partners decied to shatre profits of
the new firm in the ratio of 5 :4 calculate the gaining ratio ?.

10. Yolqcariorel e =T 2|

What is revalution Account.

11. U IaA™ SR Usar ulg auf & 3ifoid ooy foreed g &8 - S 12000,13000,14000,18000
vd S 2000 (gifer) | =t @1 A ferral If uE freer ufg uwi & i@ e & gorem W AN

The profits earned by a business over the last five year are as follows : Rs
12000,13000,14000,18000 and Rs 2000 (loss). Find out the value of goodwill if t is based on
two years purchase of the average profit of last five years.

12. 3feT Ud k0T U & PIg IR 3fdR Ia@md ?
Give any four point of distinction between shares and debentures

13. 39N & &7 A 377 R FAST & ?

What do you mean by forfeiture of shares?

14. foreafaRaa Faansii A dTe 3gUId I T HITST |

From the following information calculate current ratio:
Xi®d  (Stock)

e (Debtors)

Addbs T o ampt (Cash in bank balances)
et Feufe=t (Fixed Assets)

FqR% oelerr (Trade Creditors)

<o fgar (Bills payable)

yraemer  (Provisions)

ddwreiier ko (Long-term debt.)

Section-C

15. 3T & J1d Ud UG oordel Jd  3iaz Jarsy |

Distinguish between receipts and payments account & income and expenditure account?

16. X 3R Y3t wat &1 31 A 2021 & 3w Ricer ForeafeiRag & d @mer & 3:2 B 3guid A
afed 1

The following is the balances sheet of the firm of X and Y on 31**march 2021 . They share
profits in the ratio 3:2 ?



Liabilities (g1fre) Amount Assests (Iaufer) Amount
() (zpa)
AeTeT (Creditors) 31,000 Jb & Aws (Cash at bank) 25,00
qoit Fmar (Capital a/c) yfd 3R FwE(Land and buildings) 12,500
X 17,500 wie 3R AMTH(Plant and machinery) 17,500
v 17,500 ' 750
weitaz (Furniture) 10,250
6 (Stock) 22,500
66,000 2eeR (debtors) 66,000
1 30l 2020 B ZB fordet ordf TR T F waer 2
. Z B B 2500 FMd B HY & e & ord @R & & wen
. Z 5 7500 3Ueh Yot & HU & armar &
. Z® YA I B fAU wH @ JEid H Fored yBR Fedive e owm ofH R

HBA BN AT S 15000, @e 3R AMed B 10 Ufaerd dH FHeem 2 R JoeR W Ao
o & fU 5 ufderd @1 udy e, sifdd e B 12,500 W AeT B

Jaddicea AT 3R ARSI & Yoll JMar Feise |

They take Z into partnership on 1* april 2020 on the following terms:

° Z is to bring rs 2500 for goodwill which is to be retained in the business
° Z also brings in rs 7500 as his capital
° For the purpose of admission of Z the firm assets were valued as under : land

and buildings to be taken at rs 15000, plant and furniture to be reduced by 10
percent and porvision of 5 percent on debtors is to be made for doubtful debts, the
stock is to be taken at rs 12500.

Prepare revaluation account and the capital account of partners

17. forfar Rewor & fRectwor &1 @@ T 22 3B ool Tasv|

What is meant by analysis of financial statement ? give it’s advantages

18. U foifdes @wawell ¥ 10000 3iQr Sielar ol fefferd P Ui 3i97 3 20 &1 31 3 TR > 4
3dqe W, S 8 3ded W AR T 8 YAH AN W ¢ &l 12500 3ieh & fIU 3mdes ual yrad gv




ATl o 10000 3i9 & 3Mded &l forory forar 3T 3rdee s @t AT &1 3Ny 3idea & fow
TR0 fbaIT ORIT| & AR Sleiel B ol difoe Fafl ARPRT Ut & a8 |

A Ltd company issued 10,000 shares of rs 20 each to the public. Payble rs 4 on application, rs 8
alloutment and rs 8 on first call Applications were received for 12,500 shares . The directors
decided to allot 10,000 shares and surpluse of application money was utilised for allotment.

Pass the journal entries assuming that the amounts due were recived.

19. fereaferlRaa Jgaensit & uRarea feansl F Aws yas avor duR @i |

From the following information prepare cash flow statement from operating activities :

arg a¥ @1 gg @ (Net profit of current year) 100000
AT I F sxaredaor (Transfer to genral reserve ) 10000
el & et (Decrease in debtors) 25000
2 faust & weft (Decrease in bills payble ) 20000
sufaRaa siet wr @ger (Discount on shares written off) 5000
e # glg (increase in stock) 18000
Fiefter d@at A =ifer  (Loss on sale of machine) 12000

fafereor It & @mer (Profit on sale of invesment.) 4000



